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According to the supervisory review process (The Second Pillar ):answer the

following questions :

(- ) What does the supervisory review process (The Second Pillar) intend to
achieve ? [5 # ]

(= ) What are the three main areas that might be particularly suited to treatment
under Pillar2? [10 & ]

(=) What are the four key principles of supervisory review ? [10 4 ]
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The following financial data belongs to Bank A :

1. The sum of risk-weighted assets for credit risk : NT$60,000,000.
2. The capital requirements for operational risk : NT$3,000,000.
3. The capital requirements for market risk : NT$5,000,000.
4. Common stocks : NT$12,000,000.
5. Capital surplus : NT$5,000,000.
6. Retained earnings : NT$200,000.
7. Equity adjustment : NT$300,000.
8. The amounts must be subtracted from the total eligible self-owned capital :
NT$100,000.
9. Operating reserve and loan loss provision : NT$700,000.
10. Fixed asset appreciation surplus : NT$120,000.

Use the foregoing data, please calculate :
(- ) Total risk-weighted assets ? [10 4 ]
(= ) The tier 1 capital ? The eligible tier 2 capital ? [10 4 ]

(=) The capital adequacy ratio ? (k= $#£37 » » B3 - #is 5 = 4 00.009 )[5 & ]



